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& @ TwoDTvar

o ender s Rodule mboundaries
mil_lepack9S.fib use minput
THpeck use mgridaing
Reso use mvectors
Source Files
& N USE MKL95_PRECISION, ONLY: WP
boundares 50 =
X USE MKL9S LAPACK, ONLY: GBSV
boundarie2/%0 -
boundaries3 150 use mel_paraiso
gridding.f90. use omp_lib
inputf20 tinclude 'mkl_rci.fi'
Iopack50
maintwodtier 50 implicit none
[ mklfi save
mkLpardiso 90
|DECLARING VARTASLES, VECTORS AND MATRIX NEEDED FOR THIS MODULE
vectorsi%0 iStatic Allccations
3 ResiMet integer :: n, toi, 1dx2, gpent, fgpip, lepip, nopap, ngPbp, ctex, i1 lind
integer, dimension (1) 11 idwx2
integer, dimension(ape) ¢+ loct
Zeal(p) :+ STrOutPacker, STeinPacker, STrDrainage, STzTop, STiBovsom
TwTEGER :: TR
integer, dimension(nrc) :: indext
\Dynamic Allccavions
zeal(ap) ,atmension(:),allocatable :: qufnv, qisnv, qunv, qonv, gbnv, NNSSV, WSv, UDran, LDron, UDznn, LDzan, MDnn, ctmp2, NDSSV, DDSSV, DNSSV
real (dp) ,dimension(:, :),allocatable BMnn, TMnn, BTMnni, Psfr, Pvfr, givom, NNSSM, Psfrnd, BMnd, TMnd, BTMndi, NDSSM, Pvfrnd, Pspr, Psprdd, BMdd, TMdd, TMddt, E
INTEGER, ALLOCATABLE :: TPTV(
REAL(VP), ALLOCATABLE :: STHan(:,:), RESma(:,:), STMnd(:,:), RESmd(:,f), STMIA(:,:), RESEd(:,:), STMan(:,:), RESdn(:,
integer 3 T, cva
eal(dp) :: sumds, don, DMAX, dent, domce
Zea1(dp) , dimension() ,allocatable 14 tv, tveemp, Tvv, tviemp, DelvaP
Zea1(dp)  dimension(s, 1) allocatable i: Pefriemp, Bvirtemp, ATinn, Pepriemp, Pvpre
real(dp) , dimension () ,allocatable i; deltatrz?, gepdd, gepdnt, qveddt, qupdn
Zea1(dp) , dimension(s, 1) allocatable :: Gepdd, depdn, qvedd, qvbda
tpardiso
TYPE (HKE,_PARDISO_FANDLE) , dimension (64) -
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